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Answers for 8.2
For use with pages 567-563

8.2 Skill Practice 5. / y
1. range; domain 1
2. No; the denominator 1s an -1 | x
exponential function not a ///
polynomial function. /
3 N The graph lies farther from the
| N axes than the graph of y = % and

is located in quadrants 2 and 4.

™ — . Both graphs have the same
\\ asymptotes, domain, and range.
The graph lies farther from the 6. 1ty
axes than the graph of y = % l
Both graphs lie in the 1st and :
3rd quadrants and have the same -~ X
asymptotes, domain, and range. -1 —
4. A
\ I
\. '
2 S~— The graph lies closer to the
~— 2 x axes than the graph of y = %
\\ Both graphs lie in the 1st and
\ 3rd quadrants and have the same
\ asymptotes, domain, and range.

The graph lies farther from the
axes than the graph of y = %

Both graphs lie in the 1st and
3rd quadrants and have the same
asymptotes, domain, and range.
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\\
lo.z N —
‘\\ —-0.2 X
\
AN
\

The graph lies closer to the
axes than the graph of y = %

Both graphs lie in the Ist and
3rd quadrants and have the same
asymptotes, domain, and range.

Jx)

\
\

The graph lies farther from the
axes than the graph of y = % and

is located in quadrants 2 and 4.
Both have the same asymptotes,
domain, and range.

10.

f 42

'

The graph lies farther from the

axes than the graph of y = % and

1s located in quadrants 2 and 4.
Both have the same asymptotes,
domain, and range.

f a0

'

The graph lies farther from the

axes than the graph of y = % and

is located in quadrants 2 and 4.
Both have the same asymptotes,
domain, and range.
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11.

12.

)
W

\

domain: all real numbers
except 0, range: all real numbers
except 3

domain: all real numbers
except 0, range: all real numbers
except —2

14.

15.

domain: all real numbers
except 1, range: all real numbers
except 0

domain: all real numbers
except —2, range: all real num-
bers except 0

f 4y

/

domain: all real numbers
except 0, range: all real numbers
except —7
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16. y domain: all real numbers
except 7, range: all real numbers
el except 0
19. y
— |
1
1 7 e —
/ |

domain: all real numbers
except 0, range: all real numbers
except 4 /

17. f y domain: all real numbers
except —4, range: all real
numbers except 3

/
-— ! . 20. | y
1 B |
/ : ; .
-9 1IN
/ S
domain: all real numbers \\ I
except —2, range: all real \\l
numbers except 0 I
18. | }s) f domain: all real numbers
| except —7, range: all real

numbers except —5
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21. y {

domain: all real numbers
except 4, range: all real numbers

except —1
22. | fn) | A
]\
RN
||| T~
Se St EEEE
\\\\ I
\
’ W
2 ' x

domain: all real numbers
except 9, range: all real numbers
except 9

23. D

24. a. The graph will lie farther from
the asymptotes and will be a
reflection in either asymptote.

b. The vertical asymptote is
shifted left 4 units.

c. The horizontal asymptote is
shifted up 4 units.

25.

26.

27.

The graph should be y = -8

x)
8
noty=;.

f

The vertical asymptote should be
x=1,notx = —1.

i

N )

N

\

t
|
|
|
|
|
|
!

domain: all real numbers
except 3, range: all real numbers
except 1
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28. n y

I

|

I
=

—6

I\

|

A
)
=

I
I
| |
I
I

domain: all real numbers
except —3, range: all real
numbers except 1

29. y \
\

W

domain: all real numbers
except 2, range: all real numbers

1
exceptz
30. IR
[\
| I
| ~—
N
N
-2 N | X
A
\ |
I

31.

32.

domain: all real numbers
except 3, range: all real numbers
except 4

L —
98]

e

|
I
|
I
|
_2|

===
|
I
I

¥

{1

AN

domain: all real numbers

5
except —, range: all real

numbers except —%

Jx)

i

domain: all real numbers

except %, range: all real numbers

except 2
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33. f g(x)

I
I
I
T | —|—| ] ]

-2

|
I
L/
I
|
|

I

domain: all real numbers

except —%, range: all real

S5
numbers except 5

34. h) }

/
/

[\

\ L=

/
'

domain: all real numbers

except 10, range: all real numbers

except —5
35. § ] o 3x+1
- Sample answer: y = ~——2
_a k(x — h)
36.f(x)—x_h—I- p—
_ atke—kh
x—h

8.2 Problem Solving

+
37, o= B3m+50
m

4 )
90
80
70|\
60
50
40
30
20
10
0

Average monthly cost

012 3 45 6 7 89m
Months of service

5 months

_59m + 100
o m

38. ¢

160
140
120 \

100 NG

60
40
20

Average monthly cost

0
012 3 456 7 8m
Months of membership

10 months
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39. a. About 14.5 sec. Sample

answer: Substitute 25 for T to

find ¢ = 2.89. Since you are
5 kilometers away, multiply

tby 5 to get 5(2.89) = 14.5

seconds.
b.

t

3.0 ™

\\‘\

§2.9 \‘\
© \\
£ N
= 28

2.7

0$

0 10 20 30 40 T

Air temperature (°C)

about 3.89°C

B
e
)

120

90

/
60
/

30 /

//

-

Cost (thousands of dollars)

/,
g

—
e

0 0.2 04 06 0.8
Percent (as a decimal)

domain: 0 < x <100,
range: 0 <y < 150,000

X

41.

Frequency (Hz)

. $3333.33; $8571.43; $40,000;

no. Sample answer: The values
are not increasing at a
constant rate.

. 1,480,000
. approaching: f, = 40 —
) 1,480,000
moving away: f, = 40 + 7
f
2200 £
2150 ——
2100 _—
2050 |
2000 [<_|
i RERn=St
‘\\ 6
1850
1800
N
0 12 24 36 48 T
Speed (mi/h)
. The frequency of a sound

that is approaching is greater
than that of a sound that is
moving away.
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30 + 15(t — 3)
42. s = ;
N
— 16
<
= -
£ i
f: s
(V]
Q.
@ g
%)
[=2]
s
S 4
<
0

0 4 8 12 16
Time (hr)

8.2 Mixed Review

43.
44.
45.
46.
47.
48.
49.

(m + 13)(m + 5)
(p+8)(p+7

(g —T(g+7)
(r — 10)?
(x—7)(x+3)
(z—4)(z—)9)
A f@ |
\ [
\ |
\ !
\ |/
\_| /
—1 X

50.

51.

52.

53.

@ [
10 J//
/[
/—1 X
/
/
7
|
J
-2 /f_ X
/
[
'
LR
\ I
\ |
\f
'10 Jx)
-2 / \ X
/ \
[ \
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54. \ £

55 ¢ *
56. 3¢ T O

57- e4x +2
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